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25 | (HE, %)
2w 274y 2019'A (T H|) 2019'4 128 (4l) 2020 128 (A 2020'd 128 <
+E3Y E3UE FUYSY SUE =39 FUSA +E3Y SE3UE YUY FUSZLE FE3Y FUSA
1 o 33,855 -35 18,126 12.3 33,855 18,126 30,009 -114 14,369 -207 3,611 1,669
2 o= 13,240 -20.9 401 -56.6 13,240 401 10,660 -19.5 310 -226 951 22
3 = 10,410 374 42,919 26.0 10,410 42,919 6,801 -347 37,847 -118 720 3,661
4 =9 7,386 -5.1 4,432 -0.6 7,386 4,432 5,260 -28.8 3,206 =277 364 333
5 HE S 4,712 -13 67 156.5 4,712 67 3,470 -26.4 17 744 557 -
6 ZEA 3,683 -21.6 1,256 -337 3,683 1,256 2,676 -273 1,168 -7.0 326 40
7 CHot 3,729 -115 303 384 3,729 303 2,468 -33.8 193 -36.2 196 8
8 =3 3,960 -223 868 50.5 3,960 868 2,427 -38.7 371 -57.2 164 37
9 o= 6,328 -16.4 172 939 6,328 172 2,294 -63.7 320 85.3 131 118
10 Hot=2 3,557 -9.2 6,927 -6.9 3,557 6,927 2,221 -37.5 6,543 -5.6 223 681
A 90,860 75,471 90,860 75,471 68,286 - 24.8 64,344 - 14.7 7,243 6,569
25 MEeta
2w - 20199 (K H) 2019'4 128 (4)) 20204 128 (4 20204 128 28
+E2Y SEIUE FTYUSY USLE FE3Y U3y TE3Y SEIUE YUY UBLE =39 U™
1 = 8,116 87.1 68,777 -14.2 8,116 68,777 15,466 90.6 39,293 -429 1,439 2,696
2 o= 3,492 13.8 9,503 -19.2 3,492 9,503 3,853 10.3 8,072 -15.1 171 365
3 =3 4,966 -232 224 3.6 4,966 224 2,239 -54.9 360 60.5 39 19
4 Qe 1,726 -19.7 9,605 -16.6 1,726 9,605 2,162 252 7,173 -253 29 912
5 M7tE=2 2,346 102.5 77 -48.1 2,346 77 1,670 -28.8 215 178.1 63 58
6 CHet 1,796 60.3 1,292 -89 1,796 1,292 1,417 2211 1,210 -64 22 11
7 - 542 113 20 -24.7 542 20 988 823 34 705 172 2
8 e 1,645 0.0 95 -27.9 1,645 95 841 -48.9 263 1755 38 13
9 O|Ef2lot 820 -35.1 65,854 -17.7 820 65,854 612 -25.4 45,512 -309 27 4,435
10 DA 1,329 149.5 2,525 -60.9 1,329 2,525 538 -59.5 690 727 5 12
A 26,778 157,972 26,778 157,972 29,786 11.2 102,822 - 349 2,005 8,523
2= 2HEUX
2w 27te 20193 (T H|) 2019'4 128 (4l) 20209 128 (54 2020'd 128 2
+E2Y SESUE FYUSY SUE =39 FUSA +E2Y SETUE YUY FUBLE 23U U=
1 5= 70,430 13.1 869 368.3 70,430 869 54,252 -23.0 398 -54.2 5,889 19
2 e 45,980 16.1 3,520 117 45,980 3,520 47,708 38 1,331 -62.2 6,493 82
3 Ap-C|ot2td|of 10,013 346 1 -60.7 10,013 1 8,845 -11.7 - -68.8 1,089 -
4 Ef = 13,346 6.0 - 57.3 13,346 - 8,834 -33.8 24 5,501.2 1,139 10
5 =9 7,069 -4.6 5,920 -234 7,069 5,920 7,048 -0.3 1,762 -70.2 578 102
6 =3 8,803 14.7 6,378 40.8 8,803 6,378 5,452 -38.1 5,906 74 952 455
7 QI Lf|A|OF 8,287 53.0 1,182 27.8 8,287 1,182 4,222 -49.1 1,133 -4.1 727 219
8 2{A|O} 4,358 122 1 379 4,358 1 3,870 -11.2 - -95.0 1,408 -
9 22| O[A]OF 4,706 -24.9 482 -50.8 4,706 482 3,556 -24.4 470 2.4 349 1
10 o= 1,784 0.0 49,439 353 1,784 49,439 2,812 57.6 34,499 -30.2 364 2,056
e 174,776 67,792 174,776 67,792 146,599 - 16.1 45,523 - 32.8 18,988 2,944




